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2. / increase the pressure of

the refrigerant so that the .mt.-rigm'“,"t
vapour would be able to dissipate its
latent heat to the atmosphere.

(A) Cold side of system

(B) Evaporator

(C) Compressor

(D) Condenser

3. Arrange the following CMs of Haryana in

chronological order :

1. Rao Birender Singh

2. Banaras: Das Gupta

3. Bansi Lal

4. Chaudhary Dewi Lal
Select the correct answer using the codes
given below,
(A) 2,1,4,3
(C) 1,4,8,2

(B) 1,3,2 4
D) 1,23, 4

4. In a vapour absorption refrigerator, an

analvzer is provided to

(A) remove water vapour

(B) remove condensed refrigerant
vapour

(C) collect enough refrigerant

(D) maintain suction pressure in
evaporator

5. The distance of the point P(1, —-3) from
the line 2y —3x =415

-

/ ;
A (B) 13
(A) 13
(C) V13 (D) 7

6. The motion which is not simple harmonic 1s
(A) Vertical oscillations of a spring
(B) Motion of simple pendulum &%
(Cr\otion of a planet around the sun
(D) Oseaion of liquid ecolumn in a U-tube

- What i the reftigengtion temperature
requivement for frozew ds ?
(A) -10°C (BYRLE Q

(C) —356°C (D) = 4'?;:?_

N

020 (11)

L v fafvag vz ) w2
r

(D) 0

(AXE?1, 4, 3 (B) 1,3,2,4
@1, 4, 3, 2 (D) 1,2, 3, 4
. fopan s 2
(A) SIETET i FFH & eIy
(B) gEf4a frsite gem * fou
(C) v Tfhore gohgl o & fow
(D) AT H G YIRS T@H F fow

5. W2y -3x=4aufgpPa, -3)fghi

(&) ﬁ ®) 13
(C) V13 D) 7 lg
(aﬁwﬁshwamﬁ(ﬁrmaﬁrﬁfﬁa)qﬁi%
(A) Tom =1 et S
(B) O Ugem =i 7ifq
(C) g % =R 3 T e i i
(D) U P26 1§ 5d 9 H A
14T T (FF) T wadl % T e
it e feha @ 7

(A) —10°C (B ~15°C
(C) —35°C (D) —45°C
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The Charkhi-Dadri district of Haryana

was formed in the year
(A) December 2013 (B) December 2015

(C) December 2014 (D)) None of these

A human body can be considered as
thermal machine with % thermal
efficiency.

(A) 60 (B) 30

(C) 45 (D) 20

Which among the following scheme was
launched by Harvana Govt. to provide
solar based home system to meet domestic

basis energy needs ?
(A) Swarna Jyothi (B) Graha Jyothi

(C) Jeevan Jvothi (D) Manchar Jyothi

Extended surface evaporators are used

(A) for maintaining compressor inlet
pressure

(B) for maintaining evaporator
temperature

(C) when air is to be cooled

(D) none of the above

If the volume of a cube is 729 ecm?, then}

the surface area of the cube will be
(A) 486 cm?® (B) 456 cm?
(C) 466 em? (D) 476 cmmi®

A material which gets decomposed
through natural processes, such as action

by bacteria is called as
(A) Recycling

(B) Non-biodegradable
(C) Biodegradable

(D) Biodiversity

What is the fouling factor in condensers

recommended for copper tubes ?
(A) 0.00009J 'sm?K
(B) 0.00029J 'sm?K

B¢

(C) 0.00028J 'sm*K
(D) 0.00018J 'sm*K
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_mzﬂﬁlﬁ'l____a‘iﬁmt
(B) fed=r 2015

(D T H g AL

0p ATAT &FFET AT
(A) 60 (B) 89

©r 45 (DY 20

q Wﬁgﬂq_@ﬁmmw
mqﬁwmﬁmmaﬁaﬁ@
wa’;mﬁ{ mmﬁa@nfﬁmw
) 3 forg g A A

() E=l < (®) TE S
Qsﬂaqstﬂ'% (D) w1
=3 ieT = IR {6 e
(Ajéqﬁﬂtsﬁﬁaﬁmt@ﬁaam
(Bj)ﬁﬂm%mmﬁm@ﬁ%m
w}mﬁﬁmm@l

(D) I o & 1§ TE

7z faped = 1 3TEEA 729 cm? &, A1 HE
adE SR Tohae & 7

(8o 486 cm? (B) 456 cm?
(C) 466 cm? (D) 476 cm?

feamom & =@
(A) feger 2013
(©) fews 2014

13, < wered wrepfoen STt & Sfiamy <t {56

2 STTERd B §, Fed™ & |

(A) TIZEOT
(B) -3 - 3Tqe

(C) SF-HATE
(q)/éa IEIERGI
14 FR =@ F T st Feen § g

e (FITe et ) TR 7

(A 0.00009J lsm2K

(B) 0.00029J-lsm2K

(C) 0.00028J lsm?K

(D) 0.00018J'sm2K
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gl AW R
o 3 TSt A4 T
¢ pame of the piver Markanda | 1j (A) are B) T
The ancient ! - . aTEUT
A v © e
L a‘mﬁﬁﬂﬂmaaﬂwﬁwfﬁ ,E=
iveness is given by €= t1>V< ) aredfesh @ FqTon /AT T3 A
Heat Exchanger SUP ey aximum < L s
37T /AT |

(A) Actual heat
possible heat tra
= Ma:\'im}tllm pf Ssxlwfer
| heat tra A
(C) ?;:itnui?:num possible heat transfer /
actual heat transfer
(D) none of the above

If the pK, of acetic acid and pK; of NH ,OH
are 4.76 and 4.75 respectively, then pH

nsier
le heat transfer/

of ammonium acetate solution 18
(A) 0.01 (B) 7.005
(C) 9.51 (D) 4.755
Chemical formula of Freon 12 18
(A) CHCIF, (B) CCLF,
(C) CCIF, (D) CH,CI
Who among the following freedom
fighters of Haryana was known as the
‘Lion of Ballabhgarh’ ?

(A) Raja Nahar Singh

(B) Rao Tularam
(C) Rai Bahadur Lala Murlidhar

(D) Noor Samand Khan

The area of P-V diagram for a Carnot cycle
represents
(A) heat supplied
(B) heat rejected
(C) work done
(D) temperature drop

A man goes 5km towards east, then he
takes a turn to south-west and goes 5 km.
He again takes a turn towards north-west
and goes 5km. With respect to the point
from where he started, where is he now ?

afz uftfer 31 o1 pK, 3 NH OH F1 pK,
ST A4.76 3 4.75 &, A I Tfdz

fae=a =1 pH 2
(A) 0.01 (B) 7.005

() 9.51 (D) 4.755
19 HAT 12 o1 TETEE 5 2
(A) CHCIF, (B) CCLF,

§¢) CCIF, (I CH,CI

#87 e % frafafes e dnfe | @

Y Y SeeyTTe o 3T el STl o ?

(& T e T

(B) & gaH

(C) TE SETgL oTeTl Teite

(D) T I9E @A

2 UF FHHIE 9% & o0 P-V 3@ FT1 &%
T9TiaT &

(A) =Tmafe fera T A

(B) @S Tehat a1 |7

(C) Fd
(D AU H e

21w =R 5 km @ R iR s, i aw
afagor-ufgem feem it A 2o 5 km T
2 | T, @ Sm-afvem fom ) singew 5
km FTd1 8 !ﬁvﬁg@fmﬁ‘mmfﬁm
o1, 38 g ¥ TAUH ° 98 o1 Fel B ?
VSRS (B) T
(C) ufyem (D) =
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(A) East (B) North
(€) West (D) South
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perature of ammonia is ]

The cn'l:ical tem
(B) 157.2°C

(A) 1324°C

) 31.0°C D) 36.5°C

Which among the following Chief Minister
had declared complete

{ Haryana
rohibition on
(A) Devi !
(©) Bansilal

What 18 the operating pressure of
refrigerant ammonia at 40°C ?

(A) 15.33 bar (B) 15.54 bar

(O 16.638 bar (D) 9.6 bar
Kushana Period is famous for the growth
of thas Greco-Roman Art

(A) Nagara Style of Art

(B) Mathura Art

(© Gandhara Art

(D) Vesara Style of Art

In Harvana, Deru 18

(A) A kind of refreshing drink famously
consumed in Haryana

(B) An instrument made of wooden

shell

Liquor in State ?
(B) B. D. Gupta
(D) Virender Singh

(C) A festival celebrated to welcome th{\‘
>

spring season
(D) None of the above

e

The atmospheric conditions ar *"%C DBT

and specific humidity of 10 gm/ke of air.
Determine the partial pressure of vapour.

(A) 0.0163 kg/em® (B) 0.0268 kg/em?
() 0.0358 kgfem? (D) 0.0465 kg/cm®

Which of the following Harappan sites 18
the largest site in India ?
(A) Kunal (B) Mitathal

(C) Rakhigarhi (D) Bhirana
[n a power station, 218 tons of coal with

a calorific value of 29.5 Md/kg is burnt
per hour. If the efficiency of conversion

is 28%, determine the power developed.
(A) 250 MW (B) 434 MW
(C) 350 MW (D) 500 MW

AP e

a.gﬁs’éﬂﬂﬁmﬁﬁ o5eC A A & a:‘h(;g%ﬁ
10 mnﬂcgﬂ_ﬁﬁ'ﬁ SFEAT® | AT '

Z=rd T1d FL
(A) 0.0163 keg/cm?®
(C) 0.0358 kg/cm?

i i @ F- TS T WA A
e ST W R

(A) (B) Taamas

z{ Y TENTE (D)
2. U U1 9 H, 99 5 MJ/kg F SHetriHe
' Fﬂ#mgmﬂmﬁﬁﬁ%wm
5 | 7f wiE <6 2EA 28% &, T R
e, &1 Frerfor & |
(A) 250 MW

(C) 350 MW

ik

y

@} 0.0268 kg/em?
(D) 0.0465 ke/cm?®

287

(B) 434 MW
(D) 500 MW
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I.,. -
h of the following are also called

30. Whie :
shooting stars . ;.
(A) Rockets (B) Astelmdbho )
(C) Meteors (D) None of thes
31. The language processor that translates a

single statement of source program into

e and executes 1t immediately

machine cod
is called

before moving on to the next line
(A) Compiler (B) Assembler

(C) Interpreter (D) Converter

lce is formed at 0°C from water at 20°C.
The temperature of the brine 1s -10°C.
Find the ice formed per 1 HP hour.
Assume that the refrigeration cycle used
is perfect reversed Carnot cycle
(Latent heat of ice = 80 keal/kg)
(A) 67.67 kg (B) 5.5 kg
(C) 73.56 kg (D) 78.89 kg

33. The First Women's State University of
Haryana is named after

(A) Swami Shraddhanand

(B) Bhagat Phool Singh

(C) Swami Dayanand

(D) Kalpana Chawla

34. Freezing point of sulphur dioxide is
(A) —-50.8°C (B) —73.2°C
(C) —=77.7°C (D) -56.6°C
5. A describes all the data concerning

one person or thing.
(A) Relation
(C) Field

(B) Record
(D) Table

. In 1886, Lala Lajpat Rai started his
1%t law practice at

(A) New York (B) Lahore

(C) Hisar (D) Rohtak

1/2020 (13,

sy, - e & 0 T T A
(A) Te (B) TfeR
) 3 (D) ST H 1

I dae T, S Fid ST 5 THS e
1 it e i STETE A € S S ey
o A g TE 39 FreTea R, 5
el STl 2 | L
PatiEaiEsi (B) 3TEeCH
OFcvic (D) FHIH
347 200C O T 0°C T EE TN R | FTH FH
JTE —10°C £, ¥fd 1 HP &2 § &R 9%
=i Torn T | Sl oeita = g fearede e
THEE |
(=% 3 72 o fofu STEwash a9 = 80 kealke)
(%) 67,87 kg (B) 55.5 kg
(C73.56 ke (D) 78.89 kg

}—l’.

_3S%,CRfEmn % ve nfeen w=a fvatyaem #

™ FAN WG TATE |
(A) =Tt U
(C) =t 2ame

(D) =TT S1Ec

34, TR SRS F1 i 2 2
(A) —50.8°C (B) —73.2°C
(C) ~TT.7°C (D) —-56.6°C
8 Reehom safi g & i
2T 1 IUH F R |
(A) Tersm (B fraie
(C) Ficg (D) &

/s{ 1886 ™, AT AASIIE T4 3 2791 Teeht ahieTq

4 y[& = |
(A) =T B R
(D) TEaw

(C) Tean
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" works on continuously

mpmﬂfphﬁ'ﬂimlphenomemn
such as ﬂuid pressure, In(‘chﬂﬂi(:a_] motion
and electrical quantities,

(A) Digital computer

(B) Analog computer

(C) Hybrid computer

(D) Micro computer

38. The process of continuous heating and
cooling of the equipment or system by
varving the heat load is known as
(A) sensible heat process
(B) latent heat process
(C) degree of saturation
(D) none of the above

was carved out from Bhiwani and
formed as a new district of Harvana.
(A) Jind (B) Charkhi Dadri

(C) Jhajjar (D) Hisar

40. Heat removing capacity of a one ton
refrigerator is
(A) 25 Keal/min
(C) 60 Kcal/min

39.

(B) 50 Kcal/mi
(D) 100 Keal/

@as low

Which among the followin

41.
resistivity ? $
(A) Silver (B) Manganese
(C) Manganin (D) Glass

42. 200 cu. m. of air per min. is passed

through the adiabatic humidifier .The
condition of air at inlet is 40°C DBT
and 15% RH and the outlet condition is
25°C DBT and 20°C WBT. Find the dew

point temperature
{i‘l) 850{:‘
(C) 9.5°C

In the battle of Plassey, the British East
India Company's army was lead by
(A) Lord Wellesley

(B) Lord Cornwallis

(C) Robert Clive

(B) 10.5°C
(D) 12.5°C

43.

O

(D) Sir Eyre Coote

37

3

@ 2
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e 36 P e
ﬁ?ﬁmhﬁﬁ“m-m
nfa aiv ferga w01 |
(;\)Ww
(B) T
(¢ TrEfare FAE
(1) ATgaE! FALL e

e FTE A Tl
%ﬂﬁmﬁwﬁmﬁmm%
ax diferet AT S
(B ﬁ-ézaﬂﬂﬁﬁm

o ﬂﬁmﬁﬂﬁnﬁ

(D)
1 firarht & Frepren T ST

aa&zai o foren s ™
SO e q arad
O (©) 7= (D) feam

o 7 ettt ) Tl A A e @
(A) 25 Kcal/min (B 50 Keal/min
(C) 60 Keal/min (D) 100 Keal/min

- Frefafiaa o @ fradh afeuwn a2 7
(A) Tt (Blﬂ'ﬁﬂ
(C) TH (Dy &4

42. izt sgfafewrn F mom @ vfa e
200 cu. m. B4 TERAT 8 | 3 T EA1

o 40°C & &t 1 3 15% IR B 3R
e # fmafa 250c € & & o 20°C
Tocq ol A1 2 | 3 fag aromm = war @, |

(A) 8.5°C (B) 10.5°C
@) 9.5°C (D) 12.5°C
;9.,, et #i wren 1 fafen $= 3o ol H
T 1 Agea fore T o 7
(A) TTE Teired]
(B) @€ FHaTad
(C) Ta Femga
(D) §T 3R e
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228(1‘—'&&'3@[% #F fau mm Hy B A

. {ric pressure in min 1
44. Whats the barome . X
y) 760 (B) 693 () T60 (13) 693
[;; f;d (D) BT7 (C) G35 (1)) 577
(C) 633 : o
FAl F & H ¥ 5T arETi#

e oFram 4: 3 i E
following progi fﬁmm%ﬁuﬁmwmmm

45. Which among the i
was launched by the Haryana Govt. to ! o & R
develop skilled manpower in the field of w1 sFPiEn Frfataa i HAA-AR
renewable energy 7 (A) T s A
(A) Swarnim Jayanthi Scheme fr

. (B) T4
(B) Surya Mitra _ ? am g
(C) Ujwal Assurance Yojana ([_4)"336@_ [_'.-f!”j-’:‘; EIERL
(D) None of the above (D) 7o § A IS T

46. The operating system takes care of %’ fafuz ‘;IWEH =l Zifl'flq:ﬂ'qjl = ATIEA Tl
the allotment of CPU time to different T S e v 2, 3
processes is called e Al & |
(A) Allotting (B) Processing ﬁ(}BﬂﬁE’* (1B) TEEERI

(C) ZTERIA (D) Ir=fem

(C) Time sharing (D) Scheduling

AT AR~ =X F oz pEAI AR

o 93— 4ix
47. If a-iB= . then the value of : -
T ; 3+ dix
i ik (A) 1 (B) 2
(A) 1 (B) 2 =
. 1
(©) 5 ) 5 € 5 ) 5
48. Indira Gandhi University in Haryagawas | 29 ity 'ﬁ"ﬁ Rrvafaare efamm % q
located at fom 21
(A) Hisar (B) Rewani (A) Team 45 Tard)
(C) Ambala (D) Karnal (C) ETen (D) FEATA
HTSTATTH TV 31 5194, S AT9HTH FHaemd

49. The measurement of thermodynamic 4}}
property known as temperature is based on 2, g7 1| 2 2

(A) Zeroth law (A) ¥ () = e =

(B) First law of thermodynamics (B) TS =1 T BEm
(C) Second law of thermodynamics (©) e e e q-:..
(D) None of the ahove (D) T & @ FE T o

50. In 1946 ‘The Objectives Resolution” in ?’/ 1946 § gfagm @0 1 v wmw s

Constituent Assembly was moved by =1 91 Foa T o ?

(A) Pattabi Seetharamiah (A) TETel] HaTRE
(B) Dr. Babu Rajendra Prasad (B) ET_ El'IELTI'EE TaE

() . &, AW, shEEE

(C) Dr. B. R. Ambedkar
W) T FeE

(D) Jawaharlal Nehru
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gtate tree of Haryana is
(B) Mango
(D) Neem

(A) Coconut

(C) Peepal

Dew point temperature lines on the

psychometric chart are

(A) straight inclined slopping
downward to the right

(B) curved

(C) vertical

(D) horizontal

_ = is a small silicon chip or
wafer made up of extremely purified
silicon crystals.

(A) Microprocessor

(B) Vacuum tube

(C) Integrated circuit

(D) Transistor

At which place the battle between General
Lake's British forces and the Marathas
took place on 61" September 1803 7
(A) Pratapgan) (B) Panipat
(C) Gurugram (1) Hisar

N

(hoose the correct statement, "xﬁtmt BS
(Bharat Stage) — V1 emission standards
of the Government of India.

(A) Indiais currently operating on the
BS - V emigsion norms.

(B) The Central Government has
announced that from April 1, 2022,
all vehicles sold in India should
comply with Bharat Stage — V1 or
BS — V1 emission standards.

(C) The BS standards are the legal
limits on the amount of air
pollutants like carbon monoxide
(CO) and particulate matter that a
vehicle in India can emit.

(1)) None of the above

%
QO
°

N

o
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(
AT mmﬁgmﬂﬂﬂ?@%
%tmmﬁ;ﬁ—aﬁﬁﬂfﬂ"fmwgm
(ma_ﬁ
(prerad
(D) &fe )
ﬁmﬁﬁ;{qméﬁ%,m

@) FFE =0
() Firee aiEe
(%@ﬁnﬂ
s e e o e 8 T
5 i ¢ fada 1803 1 F& 83T 7
(AT (B) 9HI9d
(C) TEI™ (D) femm
35, T L 3 A T (AT ) — VI S i
a3 A # Frefefad FuEi |5 8 768 F9E
F1 T
(A) AT 8 E & - VIS

T 1 TTeH A1 S 21

B) 3 geFn 4 gion #1 R T 1 e,
2022 J E H 39 9 a1 841 3
a5 - VI AU 08 - V] IeEsA
W] T S F0 |

(C) = UF U HER AL (CO) 3R
qliig-aaﬂaéﬂargg:m; Al & IS
) WEN = T F e R
U FT6 YW # 34T 7 o3 2|

(D) 399 0 ° F12 78]



www.HaryanaJobs.in

-

a6,

60.

61.

62.

Who was the .
Slave dynasty !
(A} Razin Sultani

(I Hiurmish
() Qutb-ud- din Aibak

(D) Balban

AP 1=
- comprising a single phasd

known as
(A) open svele m
(B) closed system
() homogeneous : svstem
(D) heterogencous system

Halophytes are
less

(A) Plants adapted to growing in
water conditions | |
(B) Plants adapted to growing in saline

conditions .
((") Plants adapted to growing in high

{emperature conditions
(1)) None of the above
Which Chapter of Haryana Panchayati
Raj Act, 1994 deals with Duties and

Functions of Zila Parishad 7
(A) Chapter X (B) Chapter X{J

() Chapter IX (D) Chapter XV

In mechanical refrigeration system, the
refrigerant has the maximum temperature
(A) in evaporator

(B) before expansion valve
(C) between compressor and condenser

(D) between compressor and evaporator

Pick the odd number.
(A) 751 1&
(C) 189 ,#

Adiabatic dehumidification is based on
the principle of
(A) Expansion
(B) Adsorption
(C) Evaporation

J"\

(B) 437 -
(D) 347 :»

1/2020 (11)

rﬁ/ rttmnmpmwmﬁ'ﬁ“ﬂ@“m#“ L LK

(A T gear

(B) 3
(OF -T2
EGRE
g/ﬁﬂﬁiﬁﬂﬁnﬂﬁﬂ 39 FEd B
xy wim farem
una\*—ﬁ@f&m
() @ foen
(1)) = foen
587 FelTETE ®
A}amsra qﬁﬁuﬁmﬁwﬁ%m

|1;wﬁawﬁﬁ§rﬁru‘rﬁ3m$%u
qﬁﬁaﬁﬂ‘rnyﬁ#%&

(C) 3= dM™

gmmﬁﬂamsq?ﬁ

SN TR O siftEn, 1994 MR-

2 o Fren uiiee  aded ST e 9 TEiad

27

(Ay A X (B) eI XII

(C) 3T 1X (D) T XV1
ﬁ/ﬂﬁmugﬁmwwﬁﬁﬁﬁﬁﬁzmmﬁmn

AT &A1&

(A) 3T

(B) for=am aes 8 e

(Cy FIE 3 FT F =
(D) FIE 3R TR F 6=

mmaﬁﬁﬁqi

(% 751 (B) 437 =

1895 \¢ (D) 347 o™
62;;@@%1?&%@%8%@3‘1{3“%%?
(A) JHT] (3FETH)

(B) s (TEEis)

() AR (ZAIHEH)

61.

.‘

(D) Condensation

(D) oA (FEHIH)

-10-
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6. National Dairy Research Institute A -
stablished at - o Was i Wgﬁﬂ#ﬂi‘l 1923
. to Karnal distr, ' 1923 before / o3 e FAadd S0 1 A TR
shifting nal distriet of Haryana Ffrmom % FATE
(A) Mumbai (B) Chandigarh = .___i'{-mﬁ'ﬂ ﬁfml:ﬂ'! a1 |
(C) Bangalore (D) Delhy (A) "Ff {'I‘l &
W (0) feesh
‘alculate the ¢
64. t a]clu a a. o 1‘.n.ncal pressure of 0, using 644 3Tyl fra wHEE iy Ferars g F
ideal gas equation and Van der Waal's }/‘ : £ %
equation. ; Tqdm & O, F Fia® aar T
(A) 180 bar, 80 bar (A) 1809, 80 &
(B) 200 bar,70 bar (B) 200 9FR,70 &/
l{_‘! 171 har. 65 hﬂr [(h,l 1—‘,3 ET{. ﬁﬁw
(D 150 bar, 90 bar wﬁ{}ml O ER
65. If in a certain language ‘REMOTE’ is afz v fafvaa s 8 REMQTE' H1 E oS
coded as "ROTEME', then which word ROTEME 2, @ frg wrse #1 %18 PNICC
would be coded as PNIICC ? -
(A) NPIICC (B) PINCIC %}\§“:“C[‘ (B) PINCIC
(C) PICNIC (D) None of these 56Q9 PICNIC (D) 8 A HE T
66. 'Ratnavali’ is a famous work of ‘D(% ‘TeaEr = TF srﬁxaﬁ‘:n% |
(A) Kalidas (B) Ha:shavardhaqgﬁ (A) FfeTETE OBy T
(C) Banabhatta (D) Nagachm\g{\ (C) TR (D) ANTER
67. The comfort conditions in air QO 57 R ST q feufa 2
conditioning are at (where DBT = dry (TR S A A = TF Fod F aH 3
bulb temperature and RH = relative W U = AT HTEAT)
humidity) (A) 25°C DBT 3 100% RH
l‘,.‘jl} 255( DBT and 100% RH lB} ‘JU‘:(: I}BTﬁ-{Sﬁ% RH
(B) 20°C DBT and 80% RH St
(C) 25°C DBT and 40% RH (€7 25°C DB 3R 40% RH
(I None of these () _ﬁﬁ 'Ha'ﬁ_g e
68. Japan has a parlamentary system with ﬁymﬂ #1 HoEE goel d =4 =l
the as the head of the State. wE AR
(A) Emperor (B) Prime Minister (A) HUTZ (B) TeeEh
(C) Chancellor (D) President (Cy TR (D) Treafa
69. fibers embedded in plastic \ﬁg/’ e S e el | o wenfiR
material are used in tennis rackets. G %‘ >z i wm ﬁﬁq.?‘ﬂ%l =1
(A) Glass (B) Aluminium (A) FTE (B) Q?vt[fﬁﬁ'ﬂﬂ
(C) Graphite (D) Silicon () atFﬁE D Tt
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AF =y l‘] ‘I)

= 8 * :
; he 7p, Toanfers ) qefeat SEAME g
s Pk I'nunll 1t — E! ﬂ ng Sl |
70. Shivalk hills J.l. o 148 (Hf'ﬁ::lm'l
district ol HOT T 0 e i (D) ST
(A) Yamunanagaf L ; (") qEFHAl '
i L ‘|'n I-‘"'II!H]-‘
() Panchkula oy syt % T FaE g BT AR 3
ql 18 not used with e % 5
71.  Which pipe maten? faran STl € o
ammonia 7 1 Copper (A) mrqﬁ?ﬁm Hl'ﬂ'l . .
(A} Alummium (B) ) hose () Fl}l'ﬂ'l (D) ‘.—Fﬂ@ ?ﬂéqm
" 1 (I None of these
l.( }oimon . . £ (‘_ - -
' jountain) 1s g, HI3 ifiillgill (EHEHEII ) 97
72.  Mount Pinatubo l“'"h"-m”_-n ( ountry 7 4 fm 29  feug % ?
located in which of the following ¢ ' (A) EﬁT{
() {‘hlﬂﬂ {Pﬁ W
Dydapan © foefrfm
(C) Philippines (D) 39§ & #1872
(1 None of the above
a3 Freferfian 1 femga |
73.  Match the following. . -
Battle "9"" g3 =
a. 17" battle of Pampat 1. 1526 :al.@cﬂﬁ 1 TYH 44 1. 1526
b. 2™ battle of Panipat 2. 1556 }%W FfEda s 2 1556
c. :.]r!i ll.‘]”lt" “f P{Il"li]”lt 3. ]Tﬁl 36? '3|17ﬁ‘5|?| Eﬁl qf‘ﬁ-a a@ 3 1761
Codes : 7 Codes :
(\
a b ¢ 20 a b ¢
) 3 1 2 Q;K\\ A 3 1 2
B 3 2 Q @) 3 2 1
@ 1 2 3 $$ w1 o2 3
D 2 1 3 K\ 2 1 03
74. fIn the fullmvljm._: qu%s‘i!inn._ﬁf{nw Im;t[ht:* @ﬁﬁ%ﬁmﬁ@ 31&1'{‘@-?{% lﬁl?ﬁa:izﬂf[
etters are missing. The missing letters e 3
are given in the proper sequence as one of I o Wﬁ T % ?ﬁﬁﬂﬂ:ﬂi ﬁm & Y ﬁ
the alternatives given under the question. Tem % 1w farsen = ?\1’% I
Find out the correct one, " s :
PSL_VES_UV_Stu_rst_ rst_vrs_uv_stu_rst_ _
(.-‘:J' utrvuy (B) uvirsuv (A) utrvuv (B) uvtrsuv
(C) uvtrstu (D) rstrsts (C) uvtrstu (M rstrsts
1, I“‘"'“k“gc in *"-l'“ﬁ'igf?l‘ﬂil'“l] system using 15/\}@&7_:{12 ER R ﬁ?&ﬁ F1 ITAM FH UF
Fireon as refrigerant is detected by s foeen o fama &1 v foreds g
UL IESIGIR
(A) Halide torch (B) S : ?
~ G Sulphur stick L
! (o Fee 2 (B) e f&r
(C) Soap and water (D) Acetylene test (C) |1e+ IRTH (D) TR udeor

-12-
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1/2020 (11)
g. The Carnot cycle consistg _
. processes and oftwo adiabatic yﬁlﬁzﬁﬁﬂlwmm —
(A) two isothermal Processes T ;
(B) two constant pressype (A) 21 AT wigwan
oo 2 fesp zama wiwaTd
(C) two constant volume Process (B) LI 3
(D) one constant presg,, i (C) 21 for staeA qRATC
Te processes Wﬁﬁlmm
77. Complete the given serieg. :
1.3,7,13, 21,7 e |
(A) 31 (B) 33 3, 7, 13, 21, 78
: B) 33
(C) 29 (Dy 27
78. The process involving the flow : : Al
.II‘ =
through a spray of water is done h: o mi@mm%mni Zﬁmfh? |
(C]‘ bt&am njection {D} Heating mﬂﬂ- [{:} %ﬂ' . ':D} iﬁﬁn a'ﬁsﬁ
N
79. Which famous academician of Harvana a8 {ﬁm ¥ frg wfag fanfag 3 5= 3
has served as the Governor of Kerala and | | 3q17,m7, FUE s scEm EmR Y
Gujarat ? o : '
(A) Swaraj Kaushal fb(\ (&) &=
(B) Sushma Swaraj r§ (B) o1 &0 X
(C) Sarup Singh \2\ (C) %Y &R
(D) Om Prakash Jindal $$‘ (D) 3™y e
80. Which report is considered as “Magna &0, 9 f{tﬁi F “urE § A e w|@ A
Carta of English Education in India” ? FEl AAIAETR ?
(A) Sir Charles Wood's Despatch (A) m =ed EED] o=
(B) Hunter Commission Report (B) & smam = foaré
(C) Mecaulay’s Report (C) PrewTet i g
(D) Kothari Education Report (D) Hiar e foae
81. How many orbitals are possible for the E)A\: it FETniFR s aE i
leveln=47 : 9
(A) 14 (B) 12 (A) 14 M"
(C) 18 (D) 16 (C) 18 (DY 16
82. Hali Award is given by MT@ m e s
(A) Haryana Punjabi Akademi (A) B JemE sywed
(B) Haryana Urdu Akadem (B T2 SFEH
(C) Harvana Sanskrit Akademi (C) efmm T ATl
(D) Haryana Hindi Akadem (D) B & M=

18-
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English Langua
a sentence has

tion,
In the following ques Passive) voice.

on in Acove '““:
'tlhu";nng':liw four alternatives suggested,

select the one which best PKP“‘P‘“"‘".lho
;nmt sentence in Passive (or Active)

vVOIOe. |

You must look into this multt-'r.

(A) This matter into 100 ed by ::;:-u

(B) This matter should be looked 1nto
by vou

(C) This matter may be looked into by
vou

«7) This matter has
you

heen looked into by

Read the following sentence to find out

whether there is any error in it. The
error, if any. will be in one part of the

sentence. Mark the alphabet of that part
with error as vour answer.
She uses a good / quality of shampoo /

84

(A) (B)
s0 her hairs are / black.
(C) ~D)

853" Fillin the blanks with a suitable word from
among the alternatives given below it.
He was tired he went to wur{Q\
(A) or (B) and

(C) but” (D) since \$$

In the following question, some parts of
the sentence have been jumbled up. You
are required to rearrange these parts
which are labelled as P, ), R and S to
produce the correct sentence. Choose the
proper sequence.
P. a valuable aid to education

Q. the cinema offers
R. not only amusement

86.

N 89: H @ g2 W, T8 T

f=ht wrm
87 iﬁﬂwﬁmwt m?ﬁmm
(A) T
Iﬁm
(C) @7
(D) wd

58 ﬁmaﬁa%ﬁtwm,ﬁﬁaamw‘

Siie 1 e @l ot | 9% o
(A) viten va g @ited aem |
By ¥ 1 T&F G A gafem
98 TS T |
(C) et =1 T Jeaeh Wl ofi sufim 4
é}ﬁﬁmﬂéi
Bﬁ}sﬂﬁﬂaﬁiqﬁ
((b
o
ERik!

FETET 2 |

7 farerm 1 vy 71 ge w5 2
(A) ITHTEET

(B) elTaed

(C) Intraeen

(D) 374 9 1S e

20.

S. but is also
(A) QRSP (B) RQSP
(C) SPQR (D) QSPR
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